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1 778 #H EX ¥4 Y)an4 3 HE K (C)4km K&Eh
2 786 RiE OV RVED) 2 R XK (C)4km K&k
3 787 #A HAth 08 bEY 2 B XK (C)4km &t
4 788 HORER 97 1) 2 B K (C)4km &t
5 789  EEM #K 493 194 2 HE K (C)4km R&ET
6 790 HERE FoiE AN'g hA'k 2 HE K (C)4km K&
7 791 EO KE WYFEIL 2 B K (C)4km R&Es
8 793 EK thiE bFh" 2984 1 B K (C)4km R&Es
9 794 FHE R 993 L 1 B K (C)4km &t
10 795  FHH Kih IVLT 547 1 R XK (C)4km K&Eh
11 796 5B EXER b Yansny 1 B K (C)4km K&
12 797 K¥ EF ISV 1 B K (C)4km K&
13 5 AR BD 7VENITYY 1 BB K (C)4km R&E&
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24 735 EAKR K3} )% 8°4b 3 R XK (C)4km Rt
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15 23 @A EE 9I4 LUk 4 fE K (D)Tkm BEARJAC
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29 37 hft EE FhA7 44tR 5 BB K (D)1km KURS
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20 534 B ZOH w1 3/3 1 FE XK (C)3km w=Lls
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33 1357 JkHE 5@ Th4a et 1 f K (C)3km mpEH
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5 17 AH Bt wos 3ty 4 He K (D)1km AEARERPELE
6 8 TH BE £E34 niLh 5 f K (D)1km REARR[ELE
7 9 TH #F £54 144 3 H K (D)1km REARERPELE
8 10 HE A 1791 %+ 1 B K (D)1km REARIR[EELE
9 11 W E&8 LT 3k 5 B K (D)1km REARR[EELE
10 12 #WKREHF OLF 7%/ 3t 5 R K (D)1km REARRPEL
11 13 FHE 28 L34 %t 5 f K (D)1km BHESVF—X
12 14 B &4 4FN'+ FRAY 3 B K (D)1km REARJAC
13 15 M| %Y YIa 31 4 f K (D)1km BEARJAC
14 16 Xa EBE 44y 19) 4 R K (D)1km REARJAC
15 17 INE IS aIny LA 5 R K (D)1km BEARJAC
16 18 i fE vt nt 5 R K (D)1km BEARJAC
17 19 ¥ FHA H2)% FL 5 BE K (D)1km REARJAC
18 20 Bl B A 7V%Y 1'% 5 R K (D)1km BEARJAC
19 21 e E V4 yt) 5 HE K (D)1km Ry
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